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= A
N & o & AF S E M A
20204% £ 15 ERESMETANLAASEE N M
SN EREFHEAYSAS
M YRS (ERSBUHAYIIY)

Sl HEHHKE(ZRBSHETAHNLALSLEIH) (Sl &)
SN - B BR(S) - MRAY - BYS 04 &F 24 p[E=T" HlDE 2
EREHMEAYSAC 41,124,500 41,000,000 124,500
WRES(SPSSHEAYS ) 41,124,500 41,000,000 124,500

WEHAHXE(ZRESME AN AL S5 H) 41,124,500 41,000,000 124,500
TESEDE 41,124,500 41,000,000 124,500

701 JIESIHE R ES 41,037,200 40,912,700 124,500
01 JIEtENEES 41,037,200 40,912,700 124,500

O ZYMLSLEEN A& (0IK)
1,037,200,000%! 1,087,200 912,700 124,500




= A
N & Ol &8 AF & & Al A
20229 =& 13 SAMMSESAH &
M S AITHA
Y CALHIBEH(SAITHA D)
@ SAMMSLAL(FEAMSE N SAHYESESIH) (4233
SN B SRA(BH) - MEAY - BES 04 &F 24 plE-Tl Bz
S Al TH 24 Dt 5,700,000 5,700,000 0
s 1,060,000 1,060,000 0
= 212,000 212,000 0
Al 4,428,000 4,428,000 0
SAZEIBEES (S A A4 1) 5,700,000 5,700,000 0
s 1,060,000 1,060,000 0
= 212,000 212,000 0
Al 4,428,000 4,428,000 0
CANMMSLAIE (FEMAENSATHESESIA) 5,700,000 5,700,000 0
s 1,060,000 1,060,000 0
& 212,000 212,000 0
Al 4,428,000 4,428,000 0
Ot N = E AL 2,316,000 2,316,000 0
201 LBr2E | 100,000 0 100,000
01 At 2teldl 100,000 0 100,000
O HUAFAAH AOQE 0131012 [z =
100,000,000& = 14 100,000 0 100,000
401 Al EHIZ 2O YI 2,066,000 2,166,000 A 100,000
01 Al & Hl 2,066,000 2,166,000 A 100,000
O et MA =EAY =&  2,066,000,000& 2,066,000 2,166,000 100,000
SHANR=EAS 1,433,000 1,433,000 0
s 860,000 860,000 0
= 172,000 172,000 0
Al 401,000 401,000 0
307 212H0I & 140,000 140,000 0
s 96,200 0 96,200
e 19,240 0 19,240
Al 24,560 140,000 A 115,440
02 L2tF &AL E X 30,000 0 30,000
O SZ2X7 =RSZ2AE  30,000,000& * 14! 30,000 0 30,000
s 18,000 0 18,000
& 3,600 0 3,600
Al 8,400 0 8,400
05 QIZ2HRIE S 110,000 140,000 30,000
O 28XN7 HRUAMEH 29 S
110,000, 000& 110,000 140,000 30,000
s 78,200 0 78,200
= 15,640 0 15,640
Al 16, 160 140,000 A 123,840
401 Al HI XL 2 CHYI 1,273,000 1,273,000 0
s 763,800 860,000 A 96,200
= 152,760 172,000 219,240
Al 356,440 241,000 115,440
01 Al & Hl 1,073,000 1,273,000 A 200,000
O SZNI=EMNE =4 1,073,000, 000& 1,073,000 1,273,000 200,000
s 643,800 860,000 A 216,200




EONE
X XH -
(=

=Lk

AL 2
SANLHIBIEH (S AITHA D)
SAMMSLAS (FE g

SN HY-SR(BH) - HMBAY - B 01 &t o ol o HRE2

= 128,760 172,000 A 43,240

Al 300,440 241,000 59,440

02 2teldl 200,000 0 200,000
O SsHIARLAME =4 el

00,000,000& = 14l 200,000 0 200,000

s 120,000 0 120,000

= 24,000 0 24,000

Al 56,000 0 56,000

SATHA OlHAFS 400,000 400,000 0

s 200,000 200,000 0

= 40,000 40,000 0

Al 160,000 160,000 0

207 A <INl 240,000 0 240,000

s 120,000 0 120,000

& 24,000 0 24,000

Al 96,000 0 96,000

01 2289l 240,000 0 240,000

O SAITHA GlHIAtS 240,000,000& * 14 240,000 0 240,000

s 120,000 0 120,000

& 24,000 0 24,000

Al 96,000 0 96,000

401 Al HI L 2 CHYI 160,000 400,000 A 240,000

s 80,000 200,000 A 120,000

= 16,000 40,000 A 24,000

Al 64,000 160,000 A 96,000

01 A& HI 160,000 400,000 A 240,000

O ZSAITHA GlHIAtS 160, 000,000& 160,000 400,000 A 240,000

s 80,000 200,000 A 120,000

= 16,000 40,000 A 24,000

Al 64,000 160,000 296,000




= H
N = 0 &F AF S ® A N

0228 =A 15 TADNSALELHSH M

2 DEXH

MM HR S DNESSEEIH(DEFM)

Cel: TADESAXNA(NEANLE NS ADEALESSH) (chte @
SN - H2H.C(FA) - MEAMNY - BES O] AF2H J|HH HnszZ
NEXMY 15,831, 128 14,120,051 1,711,077

2 540,000 540,000 0
=2 1,041,000 0 1,041,000
[= 769,300 0 769,300
Al 13,480,828 13,580,051 A99,223
HE St nESATNH(DEFM) 13,448,551 10,320,051 3,128,500
2 540,000 540,000 0
=2 1,041,000 0 1,041,000
[= 769,300 0 769,300
Al 11,098,251 9,780,051 1,318,200
CADNESAXNA(DSANLE) (SADRSALESS ) 7,153,039 4,404,039 2,749,000
= 1,041,000 0 1,041,000
[= 744,300 0 744,300
Al 5,367,739 4,404,039 963,700
NEHMAIL S X FH 2,503,400 2,317,400 186,000
[= 51,000 0 51,000
Al 2,452,400 2,317,400 135,000
201 L2y 538,800 502,800 36,000
02 2229 523,000 487,000 36,000
O PoNSESEIY SAQ= 90,000,000 90,000 54,000 36,000
401 Al Bl 220 1,955,000 1,805,000 150,000
[= 51,000 0 51,000
Al 1,904,000 1,805,000 99,000
01 Al&H| 1,950,000 1,800,000 150,000

O otEE 5030 2 EXT X (Z2EHN)
3,000,0002 * 10CH 30,000 0 30,000
< 15,000 0 15,000
Al 15,000 0 15,000

O RONECHEAY AR XA
40,000,00024 * 3CH 120,000 0 120,000
= 36,000 0 36,000
Al 84,000 0 84,000
WEQHMAIOI oA AL A X LAY 2,599,000 1,240,000 1,359,000
= 841,000 0 841,000
[= 379,300 0 379,300
Al 1,378,700 1,240,000 138,700
401 Al & H 220 2,599,000 1,240,000 1,359,000
= 841,000 0 841,000
(= 379,300 0 379,300
Al 1,378,700 1,240,000 138,700
01 Al&H| 2,599,000 1,240,000 1,359,000
OXssE 43X 2 FHU(B==2l)

500,000,000 500,000 600,000 A 100,000
O R0 nEo=3t2t &X o« 0 350,000 A 350,000

O PUNSHEXH S XN DSSHMA
Abd) 1,809,000 0 1,809,000
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x‘liH:

el

SN EHY . SABH) - MBAY - BLS 0fl b o pJE-L HDE2
- OR0I2E 7S RUNSHE Y|
764,000,00020 * 14! 764,000 0 764,000
2 351,000 0 351,000
= 167,300 0 167,300
Al 245,700 0 245,700
- OfRI0IEE Y AES &X
1,045,000,00081 * 144 1,045,000 0 1,045,000
= 490,000 0 490,000
= 212,000 0 212,000
Al 343,000 0 343,000
SEPADNSHTAIL LR LHY| 1,324,000 644,000 680,000
= 170,000 0 170,000
Al 1,154,000 644,000 510,000
I A& HIY 2 1,324,000 644,000 680,000
= 170,000 0 170,000
Al 1,154,000 644,000 510,000
01 Al bl 1,324,000 644,000 680,000
O Ol20l,ZHUSE RS DEANFAIL &5
2 Z| 170,000 400,000 230,000
- SLUP(DEAHEX, LHEA S)
85,000,000 85,000 200,000 A 115,000
- NSP(REVHEX, LHEA S
85,000,0002 85,000 200,000 £115,000
O O{RI0IES7Y SHEIR ST XA
= 360,000 0 360,000
- sy 180,000,008 * 14} 180,000 0 180,000
- NE? 180,000,008 * 14} 180,000 0 180,000
O O{RI0IESRY SHEIR ST XA
(Al 1) 330,000 0 330,000
- sy 165,000,008 * 144 165,000 0 165,000
- N27 165,000,008 * 14} 165,000 0 165,000
O HR0IEE2Y A& HEAY (NS EYE
ERCPNED 100,000,008 * 14! 100,000 0 100,000
= 50,000 0 50,000
Al 50,000 0 50,000
O HSFSAIAY SXAY 200,000,008 200,000 100,000 100,000
= 100,000 0 100,000
Al 100,000 100,000 0
O 2o2S AFMHUIIBA AX 102,000,008 102,000 64,000 38,000
O EUEE HHYIIFI X (NAHBURY
A9 Are!) 40,000,0009 * 144 40,000 0 40,000
= 20,000 0 20,000
Al 20,000 0 20,000
O 2u2s GEUIIEK SIS
22,000,0008! 22,000 80,000 58,000
LSBT N A (HEBAY) 184,000 100,000 84,000
= 84,000 0 84,000
Al 100,000 100,000 0




EONE
X XH -
(=

=Lk

wsS3
HelStwESsd T (WsSd M)
CANLESENYF(RSAEE )N SALSMHSESSIA)

2 H . (3 H) - HI2EAIY - HAS O] AF2H J|HH HnszZ
401 Al & H 220 184,000 100,000 84,000
(= 84,000 0 84,000
Al 100,000 100,000 0
01 Al&H| 184,000 100,000 84,000
O Logsla WA 168,000,000 168,000 100,000 68,000
< 84,000 0 84,000
Al 84,000 100,000 A 16,000
O LoEs3d HH(AFIHE)
16,000,000 * 1Al 16,000 0 16,000
HelolBs e 440,000 0 440,000
=2 200,000 0 200,000
[= 60,000 0 60,000
Al 180,000 0 180,000
401 Al B2 =20 440,000 0 440,000
=2 200,000 0 200,000
[= 60,000 0 60,000
Al 180,000 0 180,000
01 Al&H| 440,000 0 440,000
O HB0ESFAMNM (XS NS IN & At
) 400,000,0002 * 14! 400,000 0 400,000
= 200,000 0 200,000
[= 60,000 0 60,000
Al 140,000 0 140,000
O O20IEERAIMAL (Al =It)
40,000,000 * 14l 40,000 0 40,000
NEHASZA(MSIHZUE )N SARNEMLESSZH) 4,592,512 4,213,012 379,500
(= 25,000 0 25,000
Al 4,567,512 4,213,012 354,500
XS XhAFS 2 2] 258,020 241,520 16,500
201 22| 50,340 33,840 16,500
01 AtR 22l 37,340 32,840 4,500
O YAl JSGIEA A2 ST D2 2HH|(
ABQI2E) 4,500,000 * 1Al 4,500 0 4,500
02 22294 13,000 1,000 12,000
O Logza I & 2522 S
1,000,0002 * 1204 12,000 0 12,000
DAZUEES 1,016,000 653,000 363,000
< 25,000 0 25,000
Al 991,000 653,000 338,000
207 S RIHEH]| 143,000 0 143,000
01 A 143,000 0 143,000
O FTXUE =24 2 o@ze 29
143,000,000 * 14l 143,000 0 143,000
401 Al & H 220 873,000 653,000 220,000
< 25,000 0 25,000




EONE

IME=FSEANT,
A HestWESEZEI S (WEFH)
e HAsHAmgZe(AsSiH2el 8 ) (SARSAIESE s H) (42 &J)
SN HY-SR(BH) - HMBAY - B 01 &t o ol o HRE2
Al 848,000 653,000 195,000
01 Al & Hl 870,000 650,000 220,000
O 22ds(HsS32)FHE 28 HH@=E 4
A 50,000,000& = 14 50,000 0 50,000
= 25,000 0 25,000
Al 25,000 0 25,000
ORREs SSFXE 22 A HHAIE
4 320,000,000 320,000 150,000 170,000
RS SI=IE HE 2,975,000 2,975,000 0
401 AIEHIZ 201 8] 2,975,000 2,975,000 0
01 A& HI 2,975,000 2,975,000 0
O KNES =Xetd A (R2I13HYE)
2,975,000,000& 2,975,000 2,975,000 0
MWREsS(nSHHI) 2,382,577 3,800,000 AN1,417,423
WEHHXE (A RSAEELESA) 2,382,577 3,800,000 A 1,417,423
LHEAHHKI = 2,382,577 3,800,000 ANT1,417,423
704 0 &t = 2,382,577 3,800,000 A 1,417,423
01 IE = 2,382,577 3,800,000 A 1,417,423
O SEMEAESIIS HES
2,382,577,000& 2,382,577 3,800,000 A 1,417,423




H £ 0l & AF & & Al A

2N SHPAADED
MM HZSRESAXNA(SLERAADED)

GHe: TADNSSAXNYA(NEHFE )N ZADNSASESSH) (chte @
SN -2 - AqA(SH) - HEAIY - BES O] AF2H J|HH HnszZ
SYRMADED 2,524,059 2,439,636 84,423
HERSSHANY(SER AL NSN) 2,524,059 2,439,636 84,423

CANESHENY(NSHEE ) TANEMLELFH) 1,315,381 1,315,381 0
NEHEH 1,315,381 1,315,381 0

401 Al & H 220 1,244,000 1,244,000 0
01 Al&H] 1,240,000 1,240,000 0
S5 A 100,000,000 100,000 50,000 50,000
O IWEAMNES HH 2 2H(E522)
100,000,000 100,000 150,000 A50,000
SUZHUZ(LENZTE)N(ZADEMIEHSH) 1,208,678 1,124,255 84,423
DNENE 1,208,678 1,124,255 84,423
201 L2 Y| 631,118 562,695 68,423
02 2229H| 569,968 501,545 68,423
O 2222 2 HA 387,909 319,486 68,423
- Rolcka3iHgt M2IA 028
102,646,800 102,647 75,600 27,047
- folcks3tHet MRS 40,320,000& 40,320 35,640 4,680
- =L AEEX, sYRH, S£1D1
N &g S 203,496,000 203,496 166,800 36,696
207 S RIHEH]| 16,000 0 16,000
01 A 16,000 0 16,000

O 2Htg XX WA EZEEI}
00& =+ 13 16,000 0 16,000

—_
»
o
o
o
o




= A
Ml = 0 & 2 H M M
022 E = 15 TADEALSHSH HA
2N NERAADED
MM HZSRESAXN(MNERLAADED)

Cel: EHZNUZR(RENZE )N (TADSASEHS H) (chte @
SN -2 - AqA(SH) - HEAIY - BES O] AF2H J|HH HnszZ
N2 D ED 2,877,781 2,873,281 4,500
HENESHXNI(MERLMLDNEY 2,877,781 2,873,281 4,500

EUHIHUZA(NENEE)(ZADEMIELSH) 1,579,472 1,574,972 4,500
DNEXNE 1,579,472 1,574,972 4,500
201 L2y 1,187,512 1,174,012 13,500
01 AtR 22l 79,832 77,332 2,500
O 2HY ®XDX AlIAE AR 42
2,500,000& * 14l 2,500 0 2,500
02 22294 1,107,680 1,096,680 11,000
O Z2HIY MXDX E4S2
1,375,0002 * 8IHE 11,000 0 11,000
207 S RIHEH]| 16,000 0 16,000
01 R AH| 16,000 0 16,000
O THY MDA HOHNBLSHI 2
16,000,000 * 1Al 16,000 0 16,000
401 Al & H 220 307,000 285,000 22,000
01 Al&H] 307,000 285,000 22,000
O EY=FI = COTV 0I™ & X
11,000,0002 * 24l 22,000 0 22,000
405 XtAHE S HI 32,000 79,000 A47,000
01 AHAHL 2 E F SH| 32,000 79,000 A47,000
O EY=FI XNETSs 42 L Stnet 2 30,000 77,000 A47,000
- EYUZAL NCHs =M jz e
od 0 47,000 A47,000




= A
N £ 0o & A S B M A
20228 =& 1 3 EXNFEIECIASEESA A
M SAANS
A CADELYHLZHEZI B ZLH(SAIAIE D)
e TAMNLAS(EXNPEHALSESA) (4233
SN HY-SR(BH) - HMBAY - B 01 &t o ol o HRE2
S ALAHY Bt 75,101,500 74,550,000 551,500
CANDEUYELFTHEAI B H (S AIAFS ) 7,493,674 7,494,200 AD26
SANLAML(EXNFEZIALSESIA) 7,493,674 7,494,200 ADB26
olglgl 744,474 745,000 Ab26
801 GilBIbl 744,474 745,000 AD26
01 L BHol g8l 744,474 745,000 AD26
O ol 744,474,000 744,474 745,000 A526
HY2HZH (S AIAIE D) 55,684 55,257 427
IARHH(EXNPEFH AL ELS) 26,712 26,285 427
ol 2 | 26,712 26,285 427
101 el 24 4| 26,712 26,285 427
01 2= 26,712 26,285 427
O Alte284 26,712,000& 26,712 26,285 427
MRES(SAIAIS D) 67,552,142 67,000,543 551,599
HEHAXES(EXNREHMLSESIH) 67,552,142 67,000,543 551,599
LHEHHXI= 67,552,142 67,000,543 551,599
701 JIEtelHSHES 65,500,000 57,000,000 8,500,000
03 BIIHELESAHN=ZHES 65,500,000 57,000,000 8,500,000
O SENLELSH &3 (23)
60,500,000,000& 60,500,000 55,000,000 5,500,000
O SgiHgsgsA &423(0IA)
5,000,000,000& 5,000,000 2,000,000 3,000,000
704 O &t = 2,052,142 10,000,543 AT,948,401
01 E= 2,052,142 10,000,543 AT,948,401
O SEMEAESIIS HES
2,052, 142,000& 2,052,142 10,000,543 AT,948,401




